Combination Bed

Assembly Instructions

0v|

AY

=AY
\\sf "

AV
ITIINNNA T
§ S\ 4
§ §
4 4
& \ S
N =2 II/// / D D N\
( n —
A
& /),




IMPORTANT - READ CAREFULLY - RETAIN
FOR FUTURE REFERENCE

Combination
Assembly Instructions

SINGLE BED LOW PROFILE SINGLE BED

DAYBED

BUNK BED




IMPORTANT INFORMATION

WARNING: Do not place this child’s bed near heat sources, windows and other furniture

- Children are likely to play, bounce, jump and climb on beds, therefore the child’s bed should not be placed too
close to other furniture or windows and should be placed either tight to any wall or have a gap of 300mm
between the wall and the side of the bed.

WARNING - High Beds and the upper bed of bunk beds are not suitable for children under six years due to the
risk of injury from falls.

WARNING - Bunk beds and high beds can present a serious risk of injury from strangulation if not used
correctly. Never attach or hang items to any part of the bunk bed that are not designed to be used with the bed,
for example, but not limited to ropes, strings, cords, hooks, belts and bags.

WARNING - Children can become trapped between the bed and the wall, a roof pitch, the ceiling, adjoining
pieces of furniture (e.g. cupboards) and the like. To avoid risk of serious injury the distance between the top
safety barrier and the adjoining structure shall not exceed 75mm or shall be more than 230mm.,

WARNING - Do not use the bunk bed/high bed if any structural part is broken or missing.
It is recommended that you always follow the manufacturer’s instructions to assemble this product.

Always follow the manufacturer’s recommended mattress size, as per these instructions and the bunk bed / high
bed maximum mattress height marking on the item:

Recommended Mattress Size: 91cm W x 190cm (UK Single) with Maximum Depth of 18.0cm

It is necessary to frequently ventilate the room in order to keep the humidity low and to prevent mold in and
around the bed.

Please periodically check all the fixings of the item and re-tighten when necessary.
This item conforms to British and European Safety Standards:

BSEN747:2012 + A1:2015 and BS8509:2008 + AI:2011

These labels are not to be removed

CERTIFICATION LABEL

This bunk bed model has been tested

By an independent laberatory and isin
COMBINATION British and European Safety Standards:
USENTAT-Z017 + A1 2015 an il BSE0S-200R + AT0T1
Spedification For Bunk Beds & High
Beds

Factory 10: Manufactured in Brazil

WARNMING: This upper bed is not suitable for children under six years

Maximum height

of mattress—> | | @@

=L f—t

(4]
o
_—
—
] ’g

03







1
page 08, then page 19

CONFIGURATION -

To assemble this configuration see

page 08, then page 20

CONFIGURATION - 2

0 assemble this configuration see

CONFIGURATION -5

To assemble this configuration se

e page 08, then page 54

page 08, then page 36

CONFIGURATION -3

To assemble this configuration see

CONFIGURATION - 4
page 08, then page 48

To assemble this configuration see

05




LOW PROFILE SINGLE BED

STARTER BED

BUNK BED

SINGLE BED

DAYBED

JUNIOR LOFT BED

06



HARDWARE LIST
‘I i i w THT Qty Qty

14|/ B 8

1/4 X100 ALLEN BOLT LARGE CAMLOCK

7 X 60 ALLEN BOLT

Qty Qty I Qty
i ——— e @@MM 10

4X30 SCREW @10X40 DOWEL

@ Qty Qty - Qty
! | g
k‘g 2 = METAL PIN 8 ] B CENTER NUT 1 6

Qty Qty Qty
K| QY 16| L o~ 4 ——

ARROW NUT 35X16  SCREW ALLEN KEY m

Qty Qty ) Qty
610 — 1 —

ALLEN KEY SCREW 3/16 X 1"
Qty

L UL | il 2

| Z

Qty
@) 1

SCREW 3/16 CAB13

Qty Qty
T 6.8cm 2 @ 016 1 6
Qty Qt
wo® 6 ® |

07




Basic Assembly Step For All Bed Configurations
Please reference your Bed configuration on page # 9

- Configuration # 1 - See page 9

- Configuration # 2 - See page 20

- Configuration # 3 - See page 36

- Configuration # 4 - See page 48

- Configuration # 5 - See page 54

1F

—
DOWEL

Please proceed to your bed configuration assembly page




COMBINATION
STARTER BED & LOW PROFILE SINGLE BED - 1




Starter Bed Assembly

Qty4| O
ALLEN BOLT

10




Starter Bed Assembly

A Qty 4|B Qty 2 |G Qty 2|0 Qty 1
. | o>
¥ /a0
ALLEN BOLT | LARGE CAMLOCK| SMALL CAMLOCK  ALLEN KEY
Tools Needed

A = ty 4
4X100

ALLEN BOLT

s

LARGE CAMLOCK

G _ Qty2

&>

SMALL CAMLOCK

Tools Needed

11



Starter Bed Assembly

5 A Qy2[G _Qty2[0 Qi1

- @ %
Q 1/4X100
ALLEN BOLT | SMALL CAMLOCK| ALLEN KEY

Q  Qu2[R Qye
6 | o= o=

1 J 1]/4x50
ALLEN BOLT | ALLEN BOLT

Tools Needed

@ & = /
ot @G

RS

x G

12




Starter Bed Assembly

7 P Qty1]|[s Qty1|[o0 Qty 1
— &) %
SCREW 4 X 30 SCREW 3/16 X1" || SCREW3/16 CABI3 ALLEN KEY
# —
Tools Needed '
)
& 2"
. 9%5m |
Do Not Use Power Tools —
BACKSIDE GUARD RAIL
B
s o ‘
Tools Needed

FRONT SIDE GUARD RAIL

&

!

/
g

13



Starter Bed Assembly

U

Qty 20

17

Vv

Z Qty 4

16

/’0U

14



Low Profile Single Bed

Qty 02

SPACER 6.8cm

E

Qty 28 || T

SCREW 4 X 30

< P
: 1} - : )
/H L ~_7
X
*
(q\]
i
= ﬁ 0 (i 5
O (Q VNS VRN g Q)
S >
T 1IN 7T T
M X M il
[ \ L

Do Not Use Power Tools

Tools Needed

7/

LI
A

@ —

AR

LI o\

15



Low Profile Single Bed

10

Assemble Twice

C Qty 8

7X100
ALLEN BOLT

@)

ALLEN KEY

Qty 1

=

11

Qty 2O

Qty 1

=

ALLEN KEY

Tools Needed

16




Low Profile Single Bed

12 A Qty2[B Q2|0 Qty 1

=
AL

EN BOLT | LARGE CAMLOCK ALLEN KEY

Tools Needed

17




Low Profile Single Bed

13

U

Qty 12

17

Vv

Qty4|Y

16

87

Qty 4

8

X Qty 4

11

18




Low Profile Single Bed

14

E Qty 28][T Qty 02
SCREW 4 X 30 SPACER 6.8cm @
I / ﬂj
Tools Needed I ¥

(24)

98.4cm

Your Bed is Now Ready for Use .




COMBINATION
JUNIOR LOFT SINGLE BED & LOW PROFILE SINGLE BED - 2

COMPONENT LIST

20



COMPONENT LIST




Junior Loft Single Bed Assembly

C Qty 4

X100
ALLEN BOLT

@) Qty 1

=

ALLEN KEY

C Qty 4

X100
ALLEN BOLT

ALLEN KEY

22



Junior Loft Single Bed Assembly

C Qty 4]0 Qty 1

X100 S
ALLEN BOLT |  ALLEN KEY

A Qty 4B Qty 2 |G Qty 2|0 Qty 1
4|l |62 > =

<

AL{EN BOLT | LARGE CAMLOCK| SMALL CAMLOCK| ~ALLEN KEY

Tools Needed




Junior Loft Single Bed Assembly

A Qty 4| B Qty2 |G Qty2|0O Qty 1
Tools Needed
5 oAk =~

ALLEN BOLT [LARGE CAMLOCK]| SMALL CAMLOCK ~ALLEN KEY

_
a uﬁ

B
&@ ’ L et A
| X ] G . e

— R
’ _,:——“:

Tools Needed

R

24



Junior Loft Single Bed Assembly

Q Qty 2[R Qty2|G _ Qy4|O _ Qyl
o o =

1]/4 X 60 ’ ]/4 X 50
ALLEN BOLT ALLEN BOLT | SMALL CAMLOCK | ALLEN KEY

D Qty 08

70 X 60
ALLEN BOLT

25



Junior Loft Single Bed Assembly

9 I/Qgéll Q’fy8K %QWSM%1

METALPIN | CENTERNUT | ARROW NUT ALLEN KEY

WARNING
Careful Assembly Required

1" Insert center nut J into bottom post with hole facing upwards

2" Insert metal pin I with hole facing center nut J. Note: Large scoop hole to front side.
3“Insert center nut J into top post with hole facing downwards

4" Connect top and bottom post on metal pin I

5" Attach arrow nut K on the end of allen key M

6" Insert arrow nut K into center nut J and tighten top and bottom connections firmly

st STEP nd STEP rd STEP
1 \/@\ 2 @ I o 3 Top Post
] &>

51
]' @ Bottom Post L

Bottom Post

4 thSTEP 5 thSTEP

K

o
M =

26




Junior Loft Single Bed Assembly

10 ty 21| 0 Qtyl || H j Qty2 | L Qty4|N Qty 1
| =~ ¢ O
6) W )
7 X 60 l@ ‘
ALLEN BOLT ALLEN KEY 3.5X16 SCREW SCREW 4 X 30
)\
/ ) 1 st STEP
. N
0 2 \
D
4 D
] 0
2 dSTEP Tools Needed
1/8" At
ST T =t

3 rd STEP

4 thSTEP

Do Not Use Power Tools

27




Junior Loft Single Bed Assembly

Qty 02
—

SPACER 6.8cm

WO 36

|
L

NG L ~_ "7
X
pas
e\
—
= f®) (o) (i &
O U A\ A\ Q)
< —-
T N T T
HJ T ,/ ° B

Qty 28 || T

SCREW 4 X 30

LI
W AN

LI o\

-

Tools Needed

28



Junior Loft Single Bed Assembly

P Qty1||S Qty 1|0 Qty 1
_— D %
SCREW 4 X 30 SCREW 3/16 X 1" SCREW 3/16 CAB13 ALLEN KEY

Tools Needed # =
S
+ 1
L 93.5cm N
BACKSIDE GUARD RAIL
Tools Needed

\/@

i

FRONT SIDE GUARD RAIL
¢ p—
(@)
# 8]
le 74.0cm J|




Junior Loft Bed Assembly

16

17

13 U@ Qty 32 v@ Qty 12

AN\ W\
N
AN

U

\
|

\
\

d

)

\
\

4 T W
B N= _
%/U % N :
i
WS/

\\
v
\ 2

\

\
e

J RV

.\.\Q'/’
.17/ S\
= /

30




Low Profile Single Bed

14

Assemble Twice

C

AL

Qty 8

7X100
LEN BOLT

(@)

ALLEN KEY

Qty 1

15

A Qty 2[B Qty2[0 Qty 1
= % %
@ 1 ]/ 4X100
1 ALLEN KEY

Tools Needed

31



Low Profile Single Bed

A Qty2[B Qty2]0O Qty 1
16 Qty ty

e | @ | <SS

1
ALLEN BOLT | LARGE CAMLOCK ALLEN KEY

Tools Needed

32




Low Profile Single Bed

17

Vv

Qty4|Y

16

87

Qty 4

8

X

Qty 4

11

33




Low Profile Single Bed

18

SCREW 4 X 30

T Qty 02

—

SPACER 6.8cm

Tools Needed

) [4) 7
X a |
) ' @‘i 12x -

\
”.() ‘ (25)

T D

98.4cm

34



19

35

Your Bed is Now Ready for Use



COMBINATION
BUNK BED - 3

COMPONENT LIST

36




Bunk Bed

Qty 01
N KEY

Qty12|0O

C
ALLEN BOLT ALLE
Assemble Twice

37



Bunk Bed

3 A Qty4
=

2

1 /4100

ALLEN BOLT

B Qty 2 |G Qty 2|0 Qty 1
& o> S

LARGE CAMLOCK| SMALL CAMLOCK  ALLEN KEY

Tools Needed

4 y4 B § Qy2[G _ Qw2[0 Qi1
4X100 @

ALLEN BOLT | LARGE CAMLOCK| SMALL CAMLOCK ALLEN KEY

P

g

/ \ I WP
llf:\-
/A\\-v'
T

=

L/

/ T
/ W)
1/

Pl
E ==
=4

\

N

Tools Needed

38



Bunk Bed

5 A Qty2[G _Qty2

1/4X100 ?

ALLEN BOLT | SMALL CAMLOCK]

Tools Needed

-

6 Q Qty 2[R Oty 2
@%)
1/4 X 60 1/4 X 50

ALLEN BOLT ALLEN BOLT

Tools Needed

@ a = ’
oL @G

U @

x G




Bunk Bed

B Qty 2

@)

Qty 1

Tools Needed

8 A Qty 2

1/4X100

ALLEN BOLT

B Qty 2

Z

LARGE CAMLOCK

(@)

Tools Needed

40




Bunk Bed

Qty 8| K Qty 8|M Qty 1

I Qty 4] o
A 8

METALPIN | CENTERNUT | ARROW NUT ALLEN KEY

/
<
p—

0
e

A

WARNING
Careful Assembly Required

1" Insert center nut J into bottom post with hole facing upwards
2" Insert metal pin I with hole facing center nut J. Note: Large scoop hole to front side.

3“Insert center nut J into top post with hole facing downwards

4" Connect top and bottom post on metal pin I

5" Attach arrow nut K on the end of allen key M

6" Insert arrow nut K into center nut J and tighten top and bottom connections firmly

st STEP dSTEP rd STEP
1 t \/6\ 2n @ I 3 /Hgljj] Top Post
-
J°
D

]' @ Bottom Post o L

B
\\ > ), ) Bottom Post

4 thSTEP 5 thSTEP

K

o
M =

41



Bunk Bed

10|

Qty 4

METAL PIN

K

CENTER NUT

Qty 8

€

ARROW NUT

M Qty 1

=

ALLEN KEY

Co o0

/
<

O

1" Insert center nut J into bottom post with hole facing upwards

2" Insert metal pin I with hole facing center nut J. Note: Large scoop hole to front side.
3“Insert center nut J into top post with hole facing downwards

4" Connect top and bottom post on metal pin I

5" Attach arrow nut K on the end of allen key M

6" Insert arrow nut K into center nut J and tighten top and bottom connections firmly

WARNING
Careful Assembly Required

1 st STEP

J &>

Bottom Post

2 nd STEP

L A -
] &

71

Bottom Post

4 thSTEP

5 thSTEP

o
M =

K

42



Bunk Bed

11

D Qty8 | O Qty 1
ALLEN BOLT ALLEN KEY

Ladder Assembly

12

Qty5|| P

S

SCREW 3/16 CAB13

Qty1][O

@

|

BACKSIDE GUARD RAIL

# =

{

17)

#H/

¢ 93.9cm >

Tools Needed

Tools Needed

\ &
/K

43




Bunk Bed

Qty1

=~

ALLEN KEY

44



Bunk Bed

=] T -,

s\o \\\ \

=
b
N =
— 4 T
i ¥
S5
=
z

\ \

) )

Tools Needed

45



Bunk Bed

Qty 02| Tools Needed

/v

RN

SPACER 6.8cm

Uy 86

(24)

4
\
/
(

\

' (25) | 12x
(25)

X
)
/
\
)
Y

¢

(24)

Qty 56 [T

SCREW 4 X 30

LLJ o)
AN

L o\

-

CREATES TWIN TWIN
BUNK BED

46



Bunk Bed

16

8]

Qty 44

Q17

v Qty 16

D16

Your Bed is Now Ready for Use

47



ADAPTABLES
Dual Beds

COMPONENT LIST




Single Bed Assembly

1 C

Qty 8

7X100
ALLEN BOLT

0 Qty 1

ALLEN KEY

Assemble Twice

2 C

Qty 4

X100
ALLEN BOLT

ALLEN KEY

49



Single Bed Assembly

Qty 1

ALLEN KEY

Qty 4|0

C

7X100
ALLEN BOLT

F

3

Qty 1

=

@Qtyﬁlo

N BOLT | LARGE CAMLOCK| ALLEN KEY

Qty 4B
1/4X100
AL]{E

A

.

Tools Needed

50



Single Bed Assembly

A Qty 4

6\’
J~ 1/4X100
ALLEN BOLT

B §Qty4

LARGE CAMLOCK

O Qi1

ALLEN KEY

Tools Needed

51



Single Bed Assembly

WO 36

< P
W\ U |
k\
<
(Q\|
Al
= D) () (D o
N A AN Q)
< —-
T 1IN 7T T

Qty 02

SPACER 6.8cm

E

Qty 56 [T

SCREW 4 X 30

Do Not Use Power Tools

52



Single Bed Assembly

7 U@ Qty 24[ V Qy8[W_ Qty06] Y Qty 26| X Qty 4

Q17 16 10 8 11

Your Bed is Now Ready for Use




COMBINATION
DAY BED & LOW PROFILE SINGLE BED - 5




Daybed

ALLEN KEY

Qty 4]0

ALLEN BOLT

55




Daybed

A Qty 4|B Qty 2 |G Qty 2|0 Qty 1
. | o>
¥ /a0
ALLEN BOLT | LARGE CAMLOCK| SMALL CAMLOCK  ALLEN KEY
Tools Needed

y )
4X1OO

ALLEN BOLT

s

LARGE CAMLOCK

G _ Qty2

&>

SMALL CAMLOCK

Tools Needed

56



Daybed

SCREW 4 X 30

Tools Needed

# —
&
+ 1
. 9%5m |
BACKSIDE GUARD RAIL

Tools Needed

&

57



Vv

@

16

210

58



Daybed

E Qty 28]|T Qty 02
SCREW 4 X 30 SPACER 6.8cm
Tools Needed

) [4) 7
t g
(25) 112x '\ :
25) |/ 4
/
‘ (25) L
\
1P
=
@)
N,
0
o
; (24) !

59



Daybed

10

Assemble Twice

C Qty 8|0 Qty 1

o | S

ALLEN BOLT ALLEN KEY

11

@)

Qty 1

% Tools Needed

ALLEN KEY

60




Daybed

12 A Qty2[B Q2|0 Qty 1

LA IR B

EN BOLT | LARGE CAMLOCK ALLEN KEY

Tools Needed

61




Daybed

U

Qty 12

17

Vv

Qty 4

16

Y

Qty 4

8

X

Qty 4

11

62




Daybed

14 E 28||T Qty 02

SCREW 4 X 30 SPACER 6.8cm @
I

Tools Needed I <2 4> ¥ @
- I
ON|= 1 [12x] [
- Ve
ofli¥ |
&
@)
N,
e0)
(@))
k\ A 4

Your Bed is Now Ready for Use o




General Care

Wipe clean with a slightly damp soft cloth.
Avoid the use of all household cleaners and abrasives.
When moving your furniture, carefully lift into place.
Never drag or push the pieces across the floor as this
will cause damage to the joints and could result in failure
to the product that will invalidate the warranty.

Recommendations
Periodical re-tightening of fixings.

This unit is heavy. Please use an assistant when lifting.

Notes

We've tried to make this piece of furniture as easy to

assemble as possible.

In the unlikely event that you have problems putting
it together or have damaged or missing pieces, please
contact our customer services on.

64



